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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
(a) Belief in the primacy of is a

characteristic feature of existentialism.
( Fill in the blank )
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(2)

(b) “Man is condemned to be free.”’ Name
the philosopher who is associated with
this statement.
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(c) Name the existentjalist philosopher who is
associated with the concept ‘leap of faith’.
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(d)  Which of the following sentences is true?
CETq (RO 15 Fej 9

(i) Existentialism is an emphasis on
abstract thinking.
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(i) Existentialism is related to logical
positivism.,
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(iii) Existentialism does not emphasize
rationality.
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(e)

(3)

Name the second stage of existential
transformation according to Kierkegaard.
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()  With which of the following word the
term ‘intentionality’ is associated?
IS @R 9 5T <TEIA *FHCo! Wes ?
(i) Body
=
(ii) God
ELE
(iii) Consciousness
(ool
(iv) Religion
&
( Choose the correct answer )
( % Teach! Az Sferedr )
(g) Who among the following is the author of
the book Being and Nothingness?
woTs TEd T4 e fSoge (@RI Being
and Nothingness %9 Z[(Ta] 7
(i) Kierkegaard
RIS
(ii) Neitzsche
e
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State any two obstacles that obstru‘ct the
% exercise of man’s freedom according to
(iii) Hegel
3 Sartre.
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(iv) J. P. Sartre & el 7ol
. 1. g :
‘ any three of the
( Choose the correct answer ) 3. Answer/Write short notes on any 5x3=15
(9% Teach a1k ‘Sfeiear ) following .- g
fofbrm Teq / Wiy -
wero gl {1 G
2. Answer the following n brief . 2x4=8 ) Write a note on Phenomenological
(a !
OoTS WAy 5 Taq iy reduction.
fera o
(a) In what sepge Phenomenology regards aeifea
philosophy as 4 Tigorous science’? (b) Neitzsche’s concept of ‘will to power
G ot b
e tm ﬁ_@m ’ = :
fefee w%?ﬁ e {ﬁ SepTa HIOR 4o 2R'F 4
o lietst vi that ‘truth is
in existentialists” view
(b) What doesg Neitzsche’s nihilism mean? (c) Explam. e,
subjective .
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(c) Name two atheistjc existentialist T P
philosophers. (d) Sartre’s concept of freedom
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{e) Explain phenomenology as a trend of the
contemporary Western Philosophy.
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(e) Explain the statement that existentialism is
a ‘movement of protest’.
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(f) Discuss  general characteristics  of
existentialism.
4. Answer any three of the following : 10x3=30 SRR A4Re CAFBPTR SICeAl 4 |
TS AR & o foRtm Sag fa -
* * k
{a) What is existentialism? Distinguish between
Theistic and Atheistic existentialism. 2+8=10
g 0 Syaai o FRan) RIS
WSS (12 foreie <y |
(b) Discuss after Kierkegaard the three stages
of human existence.
ey Jo W e fofG TS S5
<Pl |
(c) Explain Nietzsche’s concept of Superman.
MG ST A= 27141 30 |
(d) “Existence precedes essence Explain
and examine the statement.
oy TSR S 17 SRethr ey e
4o 41 |
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